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1 RS

T f& T sgfiecda gel & w8 fAdwem &1 =99 o SR gRae #§ fofay |
Multiple choice questions
Write the correct answer to the given multiple choice question in the answer book

() TR & FARRAMGT BT FUTT Il o—
@1:4 (@2:3 @) 3:1(:@) 3:4

Ratio of isotopes in chlorine is-
(A) 1:4 B)2:3 (©)3:1 (D)3:4

(i) ol 9U8 U ST B—
@) R v o & oy (4) gad geldg= B forg
(|) U selgs{ @ foy (]) 98d ¥ THIRI & forg

Energy band is found in-

(A) Only for one molecule (B) For free Electron

(C) For one electron (D) for many atoms
(i) ol O feedr @) SifeidaH e g 2
(1) 50% (@) 40.6% (9) 812% (I) 100%

Maximum efficiency of full wave rectifier is-
(A) 50% (B)40.6% (C) 81.2% (D) 100%

(v) FRSH # Piaar faws gy SuRerd z—
@) N @) o ) s (@) NI STHI
Which is the odd atom in pyridine.
(A) N (B)O (C)S (D) NandS both

v) eI & aRvmeawy fAefid 8T 28—
(&) o (@) gorery (w) oy (=) drer
Triple fusion results in formation of-
(A) Embryo  (B) Endosperm (C) Embryosac (D) Seed
(vi) DRI UHR & el U7 ST B— s
(31) FHpRfaCH o A (d) A=A FHf A
() wod ot # (<) AT gt #



Caryopsis fruit is found in-
(A) Cucurbitaceae family  (B) Solanaceae family

(C) Poaceae family (D) Malvaceae family

(vii) Egad, FEUIRED, da oI 37 Jffeared Hagd Yol Ul Il &—
(@) Te dromuE o H @) fgdora= a= |
(@) wefguias u<it (@) fEdora= 7 |

Conjoint, Collateral, closed and endoprotoxylem vascular bundle is found in-

(A) In Monocot Stem (B) In Dicot stem
(C) Inisobilateral leaf (D) In Dicot root

i) 9 H 9 P geR @ T # Badt el e W I 9 o B
(31) USTERI Uil H (@) wafguri¥as o=l o

() U gorg u<i A (3) SWRIad a1
In which type of leaf stomata is found only on lower epidermis-

(A) In Dorsiventral leaf (B) In Isobilateral leaf

(C) In Unilateral leaf (D) All of the above

(iX) TDPTI HIATT BT JYBIRT MAfHAT FH= BT B—
(&) o= (@) w2mm 3
(%) ArgeIPTRgar (@) SWRe i

Dark reaction in photosynthesis takes place in-

(A) In Grenna (B) In Stroma
(C) In Mitochondria (D) All of the above
x)  ed TH H AT 5 BTG AIRTE HITAT 8—
(31 Rfgd et (@) ARSIt

(4) a-PCFCR® 3vdd  (]) Hfcrd ard

Compound containing five carbons made in the krebs cycle is-
(A) Citric acid (B) Succinic acid
(C) a-Ketoglutaric acid (D) Malic acid
(xi) VEBRE GRT S I HEAT 8—
(&) et CIRSIERIE
(@) gom () TRyl




The disease caused by Ascaris is called-

(A) Malaria (B) Swine Flu
(C) Cholera (D) Ascariasis

(xii) IR TS Sg A o

(a) TpTEATSHa (@) gHidrSer
(%) dRIBRT (=) sreitareT
The larget animal phylum is-
(A) Echinodermata (B) Hemichordata
(C) Porifera (D) Arthropoda
(xiii) AT # T SIS HuTel Af3BIY uTg St 83—
@) 12 @) 14
(|) 20 (1) 9

How many pairs of cranial nerves are found in humans-

(A) 12 (B) 14
(C) 20 (D) 9
(xiv)  fRrgr I ST < dTet UIORIT T Hed o—
(&) Rrg gore (@) smsuorD
() USSR (@) STH & P 2l
Animals which give birth to young ones are called-
(A) Viviparous (B) Oviparous
(C) Ovoviviparous (D) None of the above

(xv) @Il H 3vS B B—
(31) gadidet (@) FHUIdD!
(4) d=dida (8) gesdican!
Eggs of insects are —

(A) Telolecithal (B) Isolecithal
(C) Centrolecithal (D) Microlecithal

(xvi) I & 3fvsi H b YbR &1 fadges sl —
(31) 3rEHE YuiHslT (@) gl LSl
() FA goiHslT (3) SuRIFd T



Which type of cleavage is found in mammanlian’s eggs-

(A) Unequal Holoblastic (B) Superficial Meroblastic
(C) Equal Holoblastic (D) All of the above
2 Rea Wil &1 gfd SR gRee § Pifve—
Fill in the blanks in answer book for following questions:-

() TS fHROT AT B o M & &1 BIh 7 | s
Positive rays are made of ............... ions in gases.

(ii) emgen ¥ fag[d ATAdBdT BT BROL........ Selggi BId © | 2
......... Electrons are the cause of electrical conductivity in metals.

(iii) egoRYT faedRI &1 IFTHT Toliep......... BIaT 2 | Y2
Ripple factor of half wave rectifier is ..............

(iv) FoTci ooft & AR R H STIHR......... BT =R BT ¢ | s
The difference in molecular weight between successive members of Homologous series
1S iieiiiiiine

(v) IRITHON & IRETHIY F affdrr &6 ugas o ufhar ... Pl B | s
The process of transporting pollen grains from the anther to the stigma is called....

(vi) AT gerge fed FEURBIU ... HEAN & | Y2
Bracts without hairy flower stalk is called..........

(Vi) TTEUT H o SRT AfIPTH IS BIdT 2 | s
In plants maximum transpiration occurs through.........

(viii) 3FaTg TaET BT TGET UMD oo BIAT T | s

Respiratory Quotient of anaerobic respiration is....

(ix) gepTo] # TeprAH 1 L CINICIES b7
Acrosome in sperm is formed by................

(x) fage™ @ werawy AT SIRMERT B ... Fed | 2

The cells formed as a result of cleavage are called.........

3. 3fer TENIHS U

Very Short answer type questions.

() o= STe # Hags gall @ e fea 8kt 872 1

What is the number of vascular bundles in a dicot root?

(i) B UTeT @ fHF AN F YT I Sl 57 1

Quinine is obtained from which part of the plant?

(iii) e Prforg— 1
(A) TR (i) BRAGAT AT

(B) 3THIH (i) BT JTATHIS TSI

(C) BT (iii) ST AUeTg I

(D) BRT (iv) UOTaR ATHATHRA

Match the following-
(A) Sarpagandha (i) Curcuma longa



(B) Opium (i1) Ferula Asafoetida
(C) Turmeric (ii1) Rauwalfia Serpentina
(D) Hing (iv) Papaver Somniferum
(iv) uferdl ® R ST aTel eafs I3 1 AW oy | 1

Write the name of the sound instrument found in the birds?

(v) TR UHTT | 1T T AT 27 1
What do you understand by common ion effect?

(vi) org oMy fvd wedt B2 1
What is half life?
(vii) 7= o1 BT b @1 a7 aTel U9 gEEE & A faRag | 1
Write the names of the main hormones that control the process of urine formation.

(viii) T BTHIA &1 HH F AgHS I B ST &7 1

Deficiency of which hormone causes diabetes?
(@rs—9)
SECTION-B
THRTHD U3

Short answer type questions.

4. TaEga feya el &1 uR™Iia ST | 1%
Define electric dipole moment.

5. RIOIT g1 NETU IO § Udh—gaR &l aai gl dred 27 1%
Why do magnetic lines of force not intersect each other?

6 AR A H s U A9 WERAT & oy Joa ankar &1 /9 forRag | 1%
Write the value of equivalent capacitance for three capacitors connected in parallel

7 3FCR @ IATHT H 3T RAT TSRS 57 1%

What do you understand by calibration of ammeter?

8. WA & YT HeRVI W ATUHI FIT AU &7 1%

What do yoy mean by power transmission?

9. gfcramen uq yfaerd d R fIlRau | 1%

Write the difference between impedance and reactance.

10. DI YRTYAT Ud fagfaeiiera § A& S HIforg | 1%
Find the relation between magnetic permeability and electric permittivity.

11 REDI &3 § FIBR & MR W U1 B fba 9F1 H afiepd fhar 1ar 8?7 W
BIFSTY | 1%

In how many parts has the substance been classified on the basis of its behaviour in
magnetic field ? Explain it.

12. TOMAS faRelyor § T 9 & fIgewor | yd HNo; T femd 87 1%

Why is HNO3 found before analysis of third group in qualitative analysis?

13, IHAYIT Td IThH0I AfAfhamall # R foaRay | 1%
Write the difference between reversible and irreversible reactions.
14. Ry AHTGITAT BT Th ISIERUT §RT W HIFY | 1%

Explain position isomerism with an example.



15, feforRaa AMdT & 1. U. P. A. C. 9 foIlRgu | 1%
(3)CH,-CH,-CH-C=N (3)CH,-CH, —CH —CHO
CH, CH,
CH,

(W) CH,-CH-CH,—-COOH

Write the 1. U. P. A. C names of the following compounds-
(4)CH,-CH,-CH—-C=N (B)CH,-CH,—-CH -CHO

CH, CH,

CH,

(C) CHy-CH-CH,-COOH

(Trs—a)
SECTION-C

CICCRND RS

Long answer type questions:-
16. f741 &I FASTST

@) n+e e

(§) 9= F@IUcH Gl

() S S AT BT RAT] ArSd

1+1+1=3

3l
(31) gvs @1 frm
() FrIDI FUeH HEl

(W) Sfee &1 U] g

Explain the following
(a) n+4£Rule
(b) Principal quantum number

() J.J. Thomson's atomic model.
OR

(a) Hund's law
(b) Magnetic quantum number

(c) Dalton's atomic theory.
17. (@1) IaE 3y B URHINT BT | 1+1+1=3
(d) sp° HHROT BT SETERTT GRI FHENSY |
() e e STa § faeia i 8 87




YT
(37) URHATY] FeEThl & IffrATId DI AR HIFTT |
(8) sp” HeHROT BT SETERVT gRI THSASY |
(¥) UthTge FEwdAId Bl gU Yl fderg &1 gardes ol Bidr &7

(a) Define chemical bond.
(b) Explain sp3 hybridisation with example.
(c) Why are ionic compounds soluble in water?

OR
(a) Define the overlapping of atomic orbitals.

(b) Explain sp2 hybridisation with example.
(c)Why is graphite a good conductor of electricity despite being covalent?

18. (31) HaferY S &1 B Yo IaTexvT forlRay | 1+1+1=3
() AT B 3T AT BT o a8 |

() ol URRIERYT G Bl SETERVT Aid URATIT ST |

arerar
(31) AR Sfia &7 BIg Ydh SQIeRVl fIlRay |

@) 79 & [:zgad &1 fom 9918y |
() 9% UREAROT TF Bl IQTERVT Aled URHATNT HITSTY |

(a) Give any one example of omnivorous animals.
(b)Draw the human inhalation process.
(c) Define open circulatory system with example.

OR

(a) Give any one example of carnivorous animals.
(b) Draw the human exhalation process.
(c) Define closed circulatory system with example.

Section-D
(@vs—3)
FeuTHs U
Essay Type Questions:-

19.  (3) APl B AGU B FHDII YATFPROT AT BT ford gRT GHsISY | 2+2=4
@) foaToe deIm 9oie # o= forlRau |
aferar

(31) 3TIDT @& G HI ST ol fAfy &I o gRT F=msy |
(@) getal dig ar fucdl oig # o forfRay |

(a) Explain the magnetic separation method of concentrating ores with a diagram.
(b) Write the difference between calcinations and roasting.

OR

(a) Explain the froth floatation method of concentrating ores with a diagram.
(b) Write the difference between cast iron and wrought iron.



20. (31) FrAfoIRad agted! & ey, T[0T g IUINT feTRay— 2+2=4

(i) dfeftrd=
(i) TgAT—6
(@) AT IgAD T HeTd IgaAd | R fIRay |
aferar
(o1) Fr=ifoRae agael & Heaiwor, or 9 ITART foaRan—
(i) UfeTReTSRA
(i) gl =—6, 6

(§) AUgeE 9gAP T TUGHCT dgaid H <R foffey |
(a) Write the synthesis, properties and uses of the following polymers
(1) Polypropene
(i1) Nylone-6
(b) Write the difference between thermosetting polymer and thermoplastic polymer.
OR
(a) Write the synthesis, properties and uses of the following:-
(1) Polystyrene
(i1)) Nylone-6,6
(b) Write the difference between thermosetting polymer and thermoplastic polymer.
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